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Newman’s Error Analysis Coding Sheet
	Newman’s Error Analysis
	Q1: 

I have $53 and I spend $27. How much money do I have?
	Q2:

 What number is 152 more than 498?

	1. Reading:

Read the question to yourself and let me know if you want help with any word


	Y/N
	Y/N

	2. Comprehension:

Can you tell me what the question is asking you to find out?


	Y/N
	Y/N

	3. Transformation:

What could you do to get the answer?


	Y/N
	Y/N

	4. Process Skills:

Try doing it and as you are doing it tell me what you are thinking?


	Y/N
	Y/N

	5. Encoding:

Now write down your answer


	Y/N
	Y/N


Newman’s Error Analysis Coding Sheet
	Newman’s Error Analysis
	Q3: 

The first international cricket team to tour England was an Aboriginal team. The team won 14 matches, drew 19 matches and lost 14 matches.

How many matches were played?
	Q4:

If there are 42 biscuits and each child at a party gets 7 biscuits, how many children are at the party?

	1. Reading:

Read the question to yourself and let me know if you want help with any word


	Y/N
	Y/N

	2. Comprehension:

Can you tell me what the question is asking you to find out?


	Y/N
	Y/N

	3. Transformation:

What could you do to get the answer?


	Y/N
	Y/N

	4. Process Skills:

Try doing it and as you are doing it tell me what you are thinking?


	Y/N
	Y/N

	5. Encoding:

Now write down your answer


	Y/N
	Y/N


Newman’s Error Analysis Coding Sheet
	Newman’s Error Analysis
	Q5:

Altogether there are 28 cards to be placed in 4 equal rows. How many cards are in each row?


	Q6:

Natalie paddled 402 km of the Murray River in her canoe over 6 days. She paddled the same distance each day. How far did Natalie paddle each day?



	1. Reading:

Read the question to yourself and let me know if you want help with any word


	Y/N
	Y/N

	2. Comprehension:

Can you tell me what the question is asking you to find out?


	Y/N
	Y/N

	3. Transformation:

What could you do to get the answer?


	Y/N
	Y/N

	4. Process Skills:

Try doing it and as you are doing it tell me what you are thinking?


	Y/N
	Y/N

	5. Encoding:

Now write down your answer


	Y/N
	Y/N


